22022 PARENT

Point#1 10000.000 10000.000
N 49 13 40 W 111.770
Point # 2 10072.992 9915.355
N 36 56 58 W 1230.000
Radius Point # 3 11055.966 9175.990
Delta=8 16 51 Length =177.769 Tangent = 89.040
S 45 13 49 E 1230.000
Point # 4 10189.727 10049.220
S 45 14 42 E 30.000
Radius Point #5 10168.605 10070.523
Delta=87 8 27 Length = 45.627 Tangent = 28.539
S 47 36 51 W 30.000
Point# 6 10148.382 10048.365
S 42 23 18 E 38.550
Point#7 10119.909 10074.353
S 47 41 47 W 309.740
Radius Point # 8 9911.436 9845.273
Delta=29 24 29 Length = 158.979 Tangent = 81.282
N 77 6 16 E 309,740
Point#9 9980.562 10147.201
S 12 48 38 E 163.870
Point # 10 9820.771 10183.536
N 77 11 27 E 242.000
Radius Point # 11 9874.423 10419.513
Delta=48 10 34 Length = 203.481 Tangent = 108.191
S 29 0 53 W 242.000
Point #12 9662.795 10302.135
S 60 59 12 E 231.240
Point # 13 9550.641 10504.356
S 28 59 28 W 128.790
Point # 14 9437.989 10441.935
N 61 0 32 W 90.000
Point # 15 9481.609 10363.212



) 28 59 28 W 200.330
Point # 16 9306.382 10266.117
S 61 0 32 E 284.920
Point # 17 9168.289 10515.336
S 63 6 1 E 242.000
Radius Point # 18 9058.800 10731.151

Delta=9 41 58

Length = 40.968

Tangent = 20.533

N 72 47 59 W 242.000
Point # 19 9130.363 10499.974
S 17 12 1 W 112.520
Point # 20 9022.875 10466.700
N 73 7 5 W 7.550
Point # 21 9025.068 10459.476
S 16 57 32 W 10.000
Point # 22 9015.503 10456.559
N 16 57 32 E 2824.800
Radius Point # 23 11717.464 11280.512
Delta=15 50 6 Length = 780.698 Tangent = 392.853
S 32 47 38 W 2824.800
Point # 24 9342.868 9750.548
N 9 40 15 E 335.770
Point # 25 9673.867 9806.953
N 22 18 22 E 184.560
Point # 26 9844.616 9877.004
N 38 22 7 E 198.180
Point # 27 9999.996 10000.018

AREA = 441,257.49 sf (10.1299 acres)

LENGTH = 2098.05

NORTHING ERROR = -0.004

LINEAR ERROR =S5 76 34 28 E 0.018

EASTING ERROR =+0.018



22022 3A-1

Point # 1 10000.000 10000.000
N 49 13 40 W 111.770
Point # 2 10072.992 9915.355
N 36 56 58 W 1230.000
Radius Point # 3 11055.966 9175.990
Delta=8 16 51 Length = 177.769 Tangent = 89.040
S 45 13 49 E 1230.000
Point # 4 10189.727 10049.220
) 45 14 42 E 30.000
Radius Point # 5 10168.605 10070.523
Delta =87 8 27 Length = 45.627 Tangent = 28.539
S 47 36 51 W 30.000
Point # 6 10148.382 10048.365
S 42 23 18 E 38.550
Point # 7 10119.909 10074.353
S 47 41 47 W 309.740
Radius Point # 8 9911.436 9845.273
Delta=29 24 29 Length = 158.979 Tangent = 81.282
N 77 6 16 E 309.740
Point#9 9980.562 10147.201
S 12 48 38 E 163.870
Point # 10 9820.771 10183.536
N 77 11 27 E 242.000
Radius Point # 11 9874.423 10419.513
Delta =48 10 34 Length = 203.481 Tangent = 108.191
S 29 0 53 W 242.000
Point # 12 9662.795 10302.135
S 60 59 12 E 16.240
Point # 13 9654.919 10316.337
S 28 59 28 W 63.010
Point # 14 9599.804 10285.798
N 60 59 12 W 16.260
Point # 15 9607.690 10271.578



N 29 0 48 E 305.000
Radius Point # 16 9874.415 10419.507
Delta=48 10 34 Length = 256.454 Tangent = 136.357
S 77 11 22 W 305.000
Point # 17 9806.788 10122.099
N 12 48 38 W 163.870
Point # 18 9966.579 10085.764
S 77 1 22 W 245.000
Radius Point # 19 9912.256 9846.863
Delta=18 22 7 Length = 78.545 Tangent = 39.612
N 58 49 15 E 245.000
Point # 20 10039.096 10056.473
S 38 22 7 W 174.200
Point # 21 9902.517 9948.344
) 8 35 12 E 472.000
Radius Point # 22 9874.415 10419.507
Delta=26 34 23 Length = 218.908 Tangent =111.459
S 66 50 25 W 472.000
Point # 23 9688.779 9985.544
S 18 43 40 W 428.610
Point # 24 9282.862 9847.930
N 30 28 25 E 2824.800
Radius Point # 25 11717.452 11280.503
Delta=2 19 13 Length = 114.394 Tangent = 57.205
S 32 47 38 W 2824.800
Point # 26 9342.857 9750.539
N 9 40 15 E 335.770
Point # 27 9673.855 9806.944
N 22 18 22 E 184.560
Point # 28 9844.604 9876.994
N 38 22 7 E 198.180
Point # 29 9999.984 10000.008

AREA = 126,454,111 sf (2.9030 acres)



LENGTH = 1894.89
NORTHING ERROR =-0.016 EASTING ERROR = +0.008
LINEAR ERROR=S 28 0 57 E 0.018



22022 3B-1

Point#1 10000.000 10000.000
N 18 43 40 E 428.610
Point # 2 10405.917 10137.615
N 66 50 25 E 472.000
Radius Point # 3 10591.553 10571.577
Delta =25 45 35 Length = 212.207 Tangent = 107.928
S 41 4 50 W 472.000
Point # 4 10235.765 10261.417
S 28 59 28 W 333.560
Point #5 9944.002 10095.749
N 28 9 11 E 2824.800
Radius Point # 6 12434.601 11432.570
Delta=2 19 13 Length =114.394 Tangent = 57.205
S 30 28 24 W 2824.800

Point# 7

10000.004

10000.009

AREA = 54,285.96 sf (1.2462 acres)

LENGTH =762.17

NORTHING ERROR = +0.004

LINEAR ERROR=N 65 19 21 E 0.010

EASTING ERROR = +0.009



22022 4A-1

Point # 1 10000.000 10000.000
S 60 59 12 215.000

Point # 2 9895.722 10188.019
) 28 59 28 128.790

Point # 3 9783.070 10125.598
N 61 0 32 90.000

Point # 4 9826.691 10046.875
S 28 59 28 10.230

Point #5 9817.743 10041.917
N 61 0 32 125.000

Point # 6 9878.327 9932.580
N 28 59 28 139.110

Point # 7 10000.006 10000.003

AREA = 28,977.56 sf {.6652 acres)

LENGTH = 708.13

NORTHING ERROR = +0.006

LINEAR ERROR=N 28 51 4 E 0.007

EASTING ERROR = +0.003



22022 4F-1

Point# 1 10000.000 10000.000
S 28 59 28 W 190.100
Point # 2 9833.720 9907.863
S 61 0 32 E 284.920
Point# 3 9695.627 10157.082
S 63 6 1 E 242.000
Radius Point # 4 9586.139 10372.897
Delta=9 41 58 Length = 40.968 Tangent = 20.533
N 72 47 59 W 242.000
Point#5 9657.702 10141.720
S 17 12 1w 112.520
Point# 6 9550.214 10108.446
N 73 7 5 W 7.550
Point # 7 9552.406 10101.222
S 16 57 32 W 10.000
Point # 8 9542.841 10098.305
N 16 57 32 E 2824.800
Radius Point #9 12244.803 10922.258
Delta=11 11 39 Length = 551.895 Tangent = 276.829
S 28 9 11 W 2824.800
Point # 10 9754.204 9589.437
N 28 59 28 E 333.560
Point # 11 10045.967 9751.105
N 411 4 50 E 472.000
Radius Point # 12 10401.754 10061.265
Delta=14 2 59 Length = 115.741 Tangent = 58.162
S 27 1 51 W 472.000
Point # 13 9981.315 9846.755
N 28 59 28 E 90.610
Point # 14 10060.571 9890.672
S 61 0 32 E 125.000
Point # 15 9999.986 10000.008



AREA = 144,609.33 sf (3.3198 acres)

LENGTH = 1154.26

NORTHING ERROR =-0.014 EASTING ERROR = +0.008
LINEAR ERROR=S 31 58 48 E 0.016



22022 LOT 1

Point#1 10000.000 10000.000
N 38 22 7 E 174.200
Point # 2 10136.579 10108.129
S 58 49 15 W 245.000
Radius Point # 3 10009.738 9898.519
Delta=18 22 7 Length = 78.545 Tangent = 39.612
N 77 11 22 E 245.000
Point# 4 10064.062 10137.420
S 12 48 38 E 76.070
Point#5 9989.885 10154.287
N 8 45 7 W 154.620
Point#6 9998.646 9999.916
S 8 45 7 E 472.000
Radius Point # 7 9971.903 10471.157
Delta=0 9 55 Length = 1.362 Tangent = 0.681
N 86 35 12 W 472.000
Point # 8 10000.005 9999.995

AREA =11,826.70 sf (.2715 acres)

LENGTH = 404.89

NORTHING ERROR = +0.005

LINEAR ERROR=N 46 45 55 W 0.007

EASTING ERROR = -0.005



22022 LOT 2

Point#1 10000.000 10000.000
S 86 45 7 E 154.620

Point # 2 9991.239 10154.372
S 12 48 38 E 44.770

Point # 3 9947.584 10164.298
S 85 13 8 W 163.980

Point # 4 9933.916 10000.889
N 85 13 8 E 472.000

Radius Point # 5 9973.257 10471.247
Delta=8 1 46 Length = 66.146 Tangent = 33.127

N 86 45 6 W 472.000

Point # 6 10000.002 10000.005

AREA = 8,782.43 sf (.2016 acres)

LENGTH = 363.37

NORTHING ERROR = +0.002

LINEAR ERROR=N 64 43 33 E 0.005

EASTING ERROR = +0.005



22022 LOT 3

Point # 1 10000.000 10000.000
N 85 13 8 E 163.980

Point # 2 10013.668 10163.409
S 12 48 38 E 43.020

Point # 3 9971.718 10172.948
S 77 11 22 W 167.000

Point # 4 9934.690 10010.105
N 77 11 22 E 472.000

Radius Point # 5 10039.346 10470.356
Delta=8 1 46 Length = 66.146 Tangent = 33,127

S 85 13 8 W 472.000

Point # 6 10000.005 9999.999

AREA =9,048.44 sf (.2077 acres)

LENGTH = 374.00

NORTHING ERROR = +0.005
LINEAR ERROR=N 16 21 24 W 0.005

EASTING ERROR =-0.001



22022 10T 4

Point # 1 10000.000 10000.000
N 77 11 22 E 167.000
Point # 2 10037.029 10162.843
N 77 11 22 E 305.000
Radius Point # 3 10104.656 10460.251
Delta=8 1 46 Length =42.743 Tangent = 21.406
S 69 9 36 W 305.000
Point # 4 9996.149 10175.205
S 69 9 36 W 167.000
Point #5 9936.737 10019.131
N 69 9 36 E 472.000
Radius Point # 6 10104.656 10460.251
Delta=8 1 46 Length = 66.146 Tangent = 33.127
S 77 11 22 W 472.000
Point # 7 10000.000 10000.000

AREA = 9,092.23 sf (.2087 acres)

LENGTH = 334.00

NORTHING ERROR = +0.000

LINEAR ERROR=N 15 57 52 W 0.000

EASTING ERROR = +0.000



22022 LOT 5

Point # 1 10000.000 10000.000
N 69 36 E 167.000
Point # 2 10059.412 10156.074
N 69 36 E 305.000
Radius Point # 3 10167.918 10441.121
Delta=8 1 46 Length =42.743 Tangent = 21.406
S 61 50 W 305.000
Point # 4 10020.660 10174.025
S 61 51 W 167.000
Point #5 9940.030 10027.779
N 61 51 E 472.000
Radius Point # 6 10167.917 10441.121
Delta=8 1 46 Length = 66.146 Tangent = 33.127
S 69 37 W 472.000
Point # 7 10000.001 10000.000

AREA =9,092.15 sf (.2087 acres)

LENGTH = 334.00

NORTHING ERROR = +0.001

EASTING ERROR = +0.000

LINEAR ERROR=N 6 46 13 W 0.001



22022 LOT6

Point # 1 10000.000 10000.000
N 61 7 51 E 167.000
Point # 2 10080.629 10146.246
N 61 7 51 E 305.000
Radius Point # 3 10227.887 10413.342
Delta=8 1 46 Length = 42.743 Tangent = 21.406
S 53 6 5 W 305.000
Point # 4 10044.765 10169.434
S 53 6 5 W 167.000
Point #5 9944.498 10035.884
N 53 6 5 E 472.000
Radius Point # 6 10227.887 10413.342
Delta=8 1 46 Length = 66.146 Tangent = 33,127
S 61 7 51 W 472.000
Point # 7 10000.000 10000.000

AREA =9,092.23 sf (.2087 acres)

LENGTH = 334.00

NORTHING ERROR = +0.000

LINEAR ERROR=N 32 0 9 W 0.000

EASTING ERROR = +0.000



22022 LOT 7

Point# 1 10000.000 10000.000
N 53 5 E 167.000
Point # 2 10100.267 10133.550
N 53 5 E 305.000
Radius Point # 3 10283.389 10377.458
Delta=8 1 46 Length = 42.743 Tangent = 21.406
S 45 19 W 305.000
Point# 4 10067.993 10161.520
S 45 19 W 167.000
Point #5 9950.054 10043.285
N 45 19 E 472.000
Radius Point # 6 10283.389 10377.458
Delta=8 1 46 Length = 66.146 Tangent = 33.127
S 53 5 W 472.000
Point# 7 10000.000 10000.000

AREA =9,092.23 sf (.2087 acres)

LENGTH = 334.00

NORTHING ERROR = +0.000

EASTING ERROR = +0.000

LINEAR ERROR=N 40 2 26 W 0.000



22022 LOT 8

Point # 1 10000.000 10000.000
N 45 4 19 E 167.000
Point # 2 10117.938 10118.235
N 45 4 19 E 305.000
Radius Point # 3 10333.335 10334.173
Delta=8 1 46 Length =42.743 Tangent = 21.406
S 37 2 33 W 305.000
Point # 4 10089.887 10150.439
S 37 2 34 W 167.000
Point# 5 9956.590 10049.836
N 37 2 34 E 472.000
Radius Point # 6 10333.334 10334.174
Delta=8 1 46 Length = 66.146 Tangent = 33.127
) 45 4 20 W 472.000
Point # 7 10000.001 10000.000

AREA = 9,092.15 sf (.2087 acres)

LENGTH = 334.00

NORTHING ERROR = +0.001

LINEAR ERROR=N 30 51 30 W 0.001

EASTING ERROR = +0.000



22022 LOT9

Point #1 10000.000 10000.000
N 37 2 34 E 167.000
Point # 2 10133.297 10100.603
N 37 2 34 E 305.000
Radius Point # 3 10376.744 10284.338
Delta=8 1 45 Length =42.741 Tangent = 21.406
S 29 0 49 W 305.000
Point# 4 10110.020 10136.408
S 60 59 12 E 16.260
Point#5 10102.134 10150.627
S 28 59 28 W 166.720
Point # 6 9956.304 10069.822
N 27 1 51 E 472.000
Radius Point # 7 10376.744 10284.332
Delta=10 0 42 Length = 82.476 Tangent =41.343
S 37 2 33 W 472.000
Point # 8 9999.999 9999.996

AREA =11,811.50 sf (.2712 acres)

LENGTH = 349.98

NORTHING ERROR = -0.001

LINEAR ERROR=5 76 2 46 W 0.004

EASTING ERROR =-0.004



